a) Synthetic expression, based on correlation
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b) Synthetic expression, one lineage on
2] -
© ]
o - = Q 5 < = & 5 = o N
o] o =3 < o} o =3 I © o =3 < il [} =3 1) = I ¢
g8 g v 88 | g 8§ 7288 g7 288! g8 85 &8 ¢ g = g lw o |
s < 3 | § < ¢ 5 < & | 5 <5 2 < 2] & < =2 S < 5| 5 < &5 o §Q| s = o Sl « o
o o o o o o [ai)] o0 o 4] o 3] oM (] 3] ) c @ o g wjuw o (8]
< < < < < < < < < < < < < < < < n n (7] ) [a]
I I I I I I I I I I I I 11 | |
o
— © |
g - L] I | ] ' L ' 1
Q ||
e
>
£
E 8 ‘
o ‘H H‘ | ‘ HH |‘ H H‘H H H‘ H HHIHH H H
o
A1 J J |

C) Synthetic expression, two symmetric lineages on
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